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Here too, it is an enactment; — ;732% 277 77Y3 17ARY RMAR 79975 9721 K257
Perhaps they will say her Get preceded her son

OVERVIEW

The X3 explained that the reason the 7910 should leave out the date when writing
a v for an 701X (according to the > 01wn 7"n) 1s because we are concerned if the
7910 writes the current date and he will marry (and divorce) her at a later date, and
she will have a child after the date of the v3; this will cause many uncomfortable
rumors about the situation. N1901N discusses this concern.

nooIN asks:
=127 99101 2INIPY XN NT9P N2 99NN ON)

And if you will say; what concern is there if the 2210 writes the current date -
- PRIV NN DT VX2 YWY XYY UHNY XYY XM

Since there is no concern that he will divorce her with this w3 after the Nws: -
- 25959 DIUNM PRIV UMY NIONY TP RINY 1NT 1Y 1NN XY D1y 59nY

For the witnesses will not sign this v2 for him, for they will see that it is pre-
dated, and by a X1 there is concern for a pre-dated v, because of 5935?!

n90IN answers:
= PRIVIN NN MINN? YNTITIN V)1 ANV OYTYN PPNITY 11227 05 11229 99N

And the n''1 says that since the 2°7¥ see that 'sn®1aX' is written in the w3, they
will sign it even after the X1 -

- AN NNYTH9297 22
For they will assume that she is still an 770Y9R, so there is no M0 issue, since by an
17017X the husband does not receive NM7°0 —

' The o°7v are not signing now when the 1910 is writing the 091 (for there are no names and the husband did not tell
them to sign, etc.), rather they sign when the v is ready to be given after the X1 (that is where there is the
concern of 713127 a7 7w 1K ®Aw). The 07y however will not sign it because they see it is a pre-dated v3, which is
invalid for the w1773 of a AXW1. See ‘Thinking it over’ # 1.

* The husband has a right to eat the fruits of his wife’s assets during the PX12°1; however he loses this right when he
divorces her. The date on the v precedes the actual divorce, therefore the 0*7v will not sign this v, because it will
deprive the husband from the m7°s (between the date and the actual divorce) to which his is entitled. It will hurt the
customers who bought n17°9 from the husband before the divorce and after the date on the v (which preceded the
divorce). The woman will present this pre-dated v3 and force the mmp> to give back the m1"s which were purchased
after the date in the v3, when in truth they are entitled to these N17°® since there was no divorce yet. [N1901n
(seemingly) could have said that they will not sign it (after the 1"XW>1) out of concern that 7135 27 7V 1AX.]

? Therefore once they sign the earlier date, people will say 71322 27 703
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NN asks:
=PI 0912 127 12137 221 1ATH OIPNI NPV 99NN ON)

And if you will say, even if the 1910 leaves the date blank and they will write

the date on the day of the divorce, nevertheless -
- 099X V)2 2INIY PRIV 13 1325 OTP AV 1INNRIY YNINIY XN

There still is the concern that people will say, 7312% 27p w33, since they see that

'noYR' is written in the 3 -
5
- >a%¥99 19 N XYY P

So they will assume that she never married him -
- S XYW Hyan DNY 992Y M9 MMPYN 11909 BN

And also, the buyers will unfairly lose the n17°s which the 2 sold them -
- Tma Y PR NN NOIIN IININT

For people will say she was an 17219R and he is not entitled to ny9’s!

N1B0IN answers:
- 79 99 DY INDY NNPN “ANIVIY WY XY DN M 1375 NI NPT 91315 U5

And one can say; that nymp» will not buy n17°2 from the husband, unless they

know that she was a X2, and they will bring witnesses to substantiate it, if she

claims she never was a X3 -
- "ND%Y 93270 9939 VX2 NI AT 239D NHAYNMIY ININ IPTPT N2 DY DN

And also regarding her son, people will investigate and realize that she became
pregnant before the date which was written in the v3, and the fact will be
established that she was married (not only an 7017K) —

moon offers an alternate solution:
=79 D5 YY1 PRIVIN PIT PPRY NON NNYIY NP 939D W) 93 ON

* We are permitting the 7970 to write the text of an v3 01X, where he writes *no1x. Leaving the date blank does not
resolve the issue of 7127 a7 1w’ and M9, if the husband uses this v to divorce her after the PRwa.

> People will say the child was born without 1K1

® There was X3, so the husband owns the M7 and may sell them. However the woman will later claim (based on
the vx 7017X) that there was never any X131 and therefore the husband has no rights to the n17°9, and she will
[unfairly] force the mmp> to pay her back (or return) the N7, which her husband (rightfully) sold to them.

7 The question is that there is seemingly no difference whether the 990 writes the current date or not, for in either
case there is the concern of 712% a7y 1w and N°o!

¥ They will not buy N1 from the husband unless they know that there was "X, for they know that % n°2 7018
>7°9, and if they buy it during 1°017°X the woman will take it back.

% Let us assume that the 190 is writing the v on w"n 10°1 1"7. The PXWw°1 was w"n 71X 1" The child was born 11"
X"wn 77X%. He divorced his wife on X"wn 1wn n'". Therefore, if the 71910 writes the date of 1071 11", people will say
7125 o7p v since he was born eleven months after the vi. However if we write the actual date of X"wn nwn n"9, we
will know that the child was conceived (before the divorce) while they were still married.
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Or you may also say; PXw1 has publicity; however the precise date of the

RIS is not known that well, so if the date of the actual divorce is written -
= PNV OTP NIV 199 YNDIIN VI DINIY NPT IV

Then people will know that this word 'sno1R', which is written in the w3 is

because the v was written before the 5823, but there will be no concern regarding

712% 7P 7va and nﬁ’s,lo since it is known that she was a nRW1 -
- 14325 0P 10T NYY Y3 19N PRIV TP YW It AN ON Yax

However if the date prior to the 1PXw: was written (the date on which the 7910
wrote the 03 71017X), people will continually say that 732% a7 U -

NN asks:
- )Y 07P NONT NIYO ]5 nl-Fal nvp 5an

However there is a difficulty; for why do we need the reason of 7125 a7p U

in order to explain why the date needs to be left blank -
- P5959 01U 9NT INNY SO POIPN YV 1T 13 23N AN NIDY 119

Since she is a nXw3 and it is dated from the time of P®YN, so it is »woD
according to the one who maintains that 127 was instituted by v’ because of
999D, for this vl is -

+AT X2 21NN 1T PINN NN DIV PRY Y93 11113 PRV V) M09
Like a vx which has no 27 at all, for there is no proof from the 32t which is

written in this ¥, as to when the husband still has m7°5. Our Moo does not offer an
14
answer.

' The date will prove that she conceived prior to this date and that the husband has M0 up to this date, since we all
know that she was a X1, See ‘Thinking it over’ # 2.

' Let us assume it was written and dated on 11wn 1"3. The PR3 took place on 1903 11", the baby was conceived 12
nav, and the actual divorce was 77X 11", People will say the 7"X1w°1 was on nav 7 and the baby was conceived out of
wedlock. However, we are not concerned that the nymp will lose Mo (for the wife will claim I was divorced from
the 7 777), since it was a 701X w3 and we all know that she was a nXw1, the mmp? will argue that it is a wrong date
and it is up to the woman to prove the right date when there was PR3 and when she was divorced (for the nymp?
are the o°p1mn). However regarding the gossip about the child, there is no way to prevent it; if they will write the
date when the 101K A was written, people will always suspect that the child was conceived before the Pxw-1; it
will be hard to quell these rumors.

"2 This question is on the 1"X which assumes that 21 715 & PR

" See x"w1mn who understands N9oIN question to be that the 3 should be 9109, since the woman may lose out on the
Mo (like a j1 12 7R v3). The woman was divorced on 70°1 11" the husband sold NM17°d until 79*°R 1"9; the v (which
was written as a 701IR? v3) was dated from 77X 1"9. The mmp% will claim that the date on the v3 is meaningless,
since we all know that she is a XMW1 (not an 101X) and the woman may not have proof that she was divorced in 10°1
and not in 7”X. See footnote # 14.

' See w"x"1 Moo who answers this question (that there is a 939). It seems from his answer that the w"R37 MooIN
did not understand the question as the X"w77n explained it. (see footnote # 13)
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SUMMARY

0>7v will sign a pre-dated 1P017°X v (even after the X 1), for they will assume that
she i1s still an 77017R (so there is no >0 issue). An actual divorce date will insure
that there are no problems of 5 and 7327 o7 V.

THINKING IT OVER

1. moo1n asks that it should not matter that the 7910 will write the current date in an
VA 701X, since the >7v will not sign it (after the PR)."° However it is possible
that if we allow the 7910 to write the date, the husband will have the 2°7¥ sign it
while she is still an 707X, and they will comply (since *7° 1% PR 1017X), and he
may hold the v until after the PR3, so there remains the concern of 71125 7P 7w
(and m0)?'°

2. moon writes that if they will write the correct 127 in the 0w the mmpPh will not
lose the 772 X9w M0 even though it states 7o1x.!” However the problem is the
reverse, for if the husband sells them N7 after the actual divorce, when she will
show the date on the v (which preceded the sale), the mmp% will claim that this is
the date of the va 017X, but in actuality you were a nX1w1 and were divorced after
this date (and after the husband sold us the m‘ws)!lg

15 See footnote # 1.
16 See X7 R"wAIN.
17 See footnote # 10.
18 See mwn nom.
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